l/@version=4
strategy("BEIFHI—ILT > o OR")

IIFEEIFEDIEHE E REBD AIE
fastLength=input(3,minval=1,maxval=999, title="43 HATZ Eh T 194%")
slowLength=input(5,minval=1,maxval=999title="E AT & F1T42")

BT DREAE READE L
mafast=sma(close,fastLength)
maslow=sma(close,slowLength)

75BN DFEH & READHHE
plot(mafast,color=color.red,title="MA",offset=0)
plot(maslow,color=color.blue,title="MA",offset=0)

Nd—=IL7>2o08X
isGc=crossover(mafast,maslow)
strategy.entry("entry buy",strategy.long,when=isGc)

7y ko0OX
isDc=crossunder(mafast,maslow)
strategy.close_all(when=isDc)



